LIBERAL ARTS MATH I STATISTICS EXAM EE NAME

SHOW ALL WORK ON THIS TEST OR SEPARATE PAPER. Justify all answears.
CALCULATORS ARE ALLOWED, but explain vour work,

1. Given the numbers: 7, 12, 16, 7, 8

a) find thea mean k) find the median ¢} find the mode.

(Bes)

A8

Given the numbers: 60, 40, 82, 40, 100, 100

a) find the mean b} Find the median ¢} find the mode.

(3=2)

]

Given the numbers: 72, 17, 84, 5G, 24, 56, 9, 48

a) find the mean ) Find the median c¢j find the mode.
(B’ef\)

4, Given the [requency distribution,

Score Frequengy
100
96
80
70
60

40

A Nl )

find a) thae mean, b) the median, o} the mode.

/’-’:»6%)



In 5 - 6, find the standard deviation of the following sets of numbers.

(5=

In 7 - 8, find the standard deviation of

numbers are a sample.

57
62
66
57
58

a population of which the given

7 7 8 150
12 12
16 356
9 48
6
SHOW YOUR WORK:
9. A set of scores is normally distributed with mean 80 and standard

deviation 5.

a) What percent of scores are below 857

b) What percent of scores are between 70 and 9%0?

(}EKJ c)

What percent of scores are above 857

d)}) What percent of scores are below 707

e} What percent of scores are above 707

f) What percent of scores are between 65 and 857



({ ex)

The 1ife expectancy for a brand of batteries is normally distributed

=

with mean 3 vears and standard dsviation & months.

a) About two-thirds of the batteries will last between and
- _ vears,
bl About 95% of the batteries will last between and
vears.

) What percent of the batteries can be expacted Lo go bad before
2 years?

d) What percent of the batteries should last ionger than 4 vears?

1, -

@} What percent of the batteries will last between 3 and 4 vears?

MULTIPLE CHOICE: (3’ e&)

11.

The graph below represents the ages of a random selection of people
who caught a particular wirus in 13983, Selact the statemant that is
true sbout the distribution of ages.

Frequency
The mode is greater than the mean. (number of people)
The mode and the mean sare the same,
The median is greatar than the mode.
The median and the mode are the same.

.

ooy o

miE HHH _4

12 17 22 27 32 37 42
The following plot depicts the rainfall '
in inches and the vields of wheat in
bushels per acre.

A. There is no apparent association gg:
between rainfall and yield. Yields o[
B. &n increase in rginfaall cauged w:'eal gg:
an increase in yield, {busheis 40}
¢, Thers is a positive association perscre) 30}
N ] R . 20+
between rainfall and yield. _ 10F B
B. There is a negative sssocisation 04 6 é 10 12 14 16 18
between rainfall and yield.
Rainfall
(in lnches}



13.

14.

18.

exam have been scaled so that the Store Férre,éfﬂz
scores listed in the table correspond ) quﬂ;
to the indicated percentile ranks in S
the table at the right. What 450 Qq
percentage of the students who toock 45D g?
the exam scored between 330 and 39507
420 73
A, 88 B. 61 C. 39 D. 27 390 50
760 27
330 i
Kf“ro) I
In 15- 16, the table gives the distribution
of number of visits per year to Pr T
a doctor’s office by a group of b&g;ﬁ% ‘ﬁ;ié «/fﬂ
families. ) Miies
@ 0.08
. . . / 0.23
What is the median number of wvisits to 2
a doctor’s office? - O.21
e O.2%5
A, 3 B. 2.5 C. 2.42 D. 2 51 O. 13
S 0. /0
What i1s the mean number of wvisits?

16.

A survey 1is needed to learn more about the study habits among the
students at a certain community college. Which procedure would be
the most appropriate for selecting a statistically unbiased sample?

A, Systematically survey the first one hundred students from a
list of all students.

B, Select students by blind drawing from those who are eating at
the cafeteria on a certain Tuesday.

C. Select students by blind drawing from the freshman and the
sophomore class.

D. Select students by blind drawing from each club on campus.

Scores on a graduate school entrance

A. 3 B. 2.5 c. 2.42 D. 2



17.

is,

(260

In a particular laka, the average bass is 12 inches with
standard deviation 2.5 inches. The average trout is 3
pounds with standard deviation 0.5 pound. Relatively
speaking, which is the better catch; a 16 inch bass or a 4
pound trout? Calculate the z-value for each, and explain
YOur answer.

A set of tires has a life expectancy that is normally
distributed with a mean of 50,000 miles and standard
daeviation 10,000 miies, Use a Z-table to determine
{8HOW ALL WORK) :

a) what percaent of the tires will last between 50,000 and

55,000?

b) what percent will last more than 55,000 miles?

¢) what percent wiil last less than 32,000 miles?

d) what percent will last betwaen 32,000 and 55,000 milssg?

a) what percent will last between 32,000 and 45,000 miles?



Shelistics Exam EE VA Z‘?‘MS

4. rs00 w4 =40D Cf))ﬂoule«
/1Ry o 2a) 67 Ja) 45 QLN B2 STy a7
H S gl #) 49 4% | = e/
ay 7 ) doa f/o c) AMone. 70 X 4 3:2@;% -R“aj"‘g"‘j
- L G- 6o s gbm—3 éﬁxri
b, 710 23 1 4 - ( /éc
20—l = 2 4 r),, el .~ %}”E: i '40 .4 ‘!‘
16 = & 3¢ et = & S = To /586
7=l =3 $7-6t = -3
g -te =2 4 $8 e = " ? A) meny = !5& w.
e . e 15
s(se ‘T'L_C:%4 Lu‘j_i 122 £} med . *&:é»m._}% wlfg
F[RTS EVERTN 124 et
YeNBa @ﬁ etie (43
= ';f- .__,.;, -; 3}"‘.’:‘-"#_ /.; (:__ R e ’t/k:/e’f ?;4..6}1 _-“C - 4[} 45 _z,: fé.(& (?({) -j\-fdj(?ca
clivide j”“ el PO tay cigaceq o) ase,
T gy =4 i e Tl TAe (Mé));{cs“fé <) it
[ 2o=if = ] 4% - = —6_2 (e =35 44- £
Pa—if - S 2% w8 10 —25. (‘4)2. A5 d') 2.5 %
a-h =-2 4 & SUE = e Cref=1s1C <) 4,
A4 14¢ P N
4"%42 1—‘,57‘§ ¢ \‘*}% 5 u(,, 5 é4~ £) £z .
NGy I T
SR C;‘;‘?‘ o .1372.,8 .
, T ENT s L1305 [)
f{‘gﬂ)/ :;/:'_ i/ £ 17 z = /é.—{.l:/é e
&) 2 g iz B 295
9 25% 3c zad3 .
d) 2.5, 4. ¢ —_

) 475% s p A Lol




